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Definiciones	
  

Semana	
  1	
  Clase	
  2	
  

aceleración	
   ~a = d~v
dt = lim�t!0

~v(t+�t)�~v(t)
�t

Cambio	
  de	
  la	
  velocidad	
  en	
  el	
  ;empo	
  
Velocidad	
  es	
  un	
  vector:	
  módulo,	
  dirección	
  y	
  sen;do	
  

~am = �~v
�t = ~v2�~v1

t2�t1



De	
  la	
  aceleración	
  a	
  la	
  velocidad	
  

Semana	
  1	
  Clase	
  2	
  

~am = ~v2�~v1
t2�t1

) ~v2 � ~v1 = ~am (t2 � t1)

~v2 = ~v1 + ~am1 (t2 � t1)
~v3 = ~v2 + ~am2 (t3 � t2)
~v4 = ~v3 + ~am3 (t4 � t3)
...
~vn = ~vn�1 + ~amn�1 (tn � tn�1)



Semana	
  1	
  Clase	
  2	
  

De	
  la	
  velocidad	
  a	
  la	
  posición	
  

~vm = ~r2�~r1
t2�t1

) ~r2 � ~r1 = ~vm (t2 � t1)

~r2 = ~r1 + ~vm1 (t2 � t1)
~r3 = ~r2 + ~vm2 (t3 � t2)
~r4 = ~r3 + ~vm3 (t4 � t3)
...
~rn = ~rn�1 + ~vmn�1 (tn � tn�1)



Semana	
  1	
  Clase	
  2	
  

De	
  la	
  aceleración	
  a	
  la	
  posición	
  

~an =
(
P

N

i=1
~FExternas

i

)
n

M

~vn = ~vn�1 + ~an (tn � tn�1)

~rn = ~rn�1 + ~vn (tn � tn�1)
Es	
  necesario	
  conocer	
  la	
  velocidad	
  y	
  la	
  posición	
  inicial	
  

~v0 ~r0



Semana	
  1	
  Clase	
  2	
  

De	
  la	
  fuerza	
  a	
  la	
  aceleración	
  	
  

P
N

i=1
~FExt

i

= cte = m~a

~N + ~p = 0
N � p = 0

a = 0

~N + ~p+ ~F = 0

eje y : N � p = 0
eje x : F = ma

x

a
x

= F

m



Semana	
  1	
  Clase	
  2	
  

eje y : N � p = 0
eje x : F = ma

x

a
x

= F

m

cte = a
x

= F

m

= dv
x

dt

v
x

=
R
t

0 a
x

dt = v0 + a
x

t

v
x

= dx
dt

x =
R
t

0 v

x

dt = x0 + v

x

t

x =
R
t

0 v

x

dt = x0 + v

x

t =
R
t

0 (v0 + a

x

t) dt = x0 + v0t+ a

x

t

2

2



En	
  general	
  

Semana	
  1	
  Clase	
  2	
  

~a
x

=
P

N

i=1
~

F

Externas

i x

M

~ay =
P

N

i=1
~FExternas

i y

M

v
x

=
R
t

0 a
x

dt = v0 x

+ a
x

t

v
y

=
R
t

0 a
x

dt = v0 y

+ a
y

t

~v(t) = ~v0 + ~at

~r(t) = ~r0 + ~v0t+ ~a t2

2

~a =
P

N

i=1
~FExternas

i

M = cte

x(t) = x0 + v

x 0t+ a

x

t

2

2

y(t) = y0 + vy 0t+ ay
t2

2



Semana	
  1	
  Clase	
  2	
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